
Medicine Ball
Rebounder

www.jfit.comCutting Edge. High Quality. Affordable.
JFIT is founded on this fact:

IF YOUR BODY FEELS GOOD, SO WILL YOUR MIND

JFIT 
11 Arcadia Way Columbia Falls, MT 59912 
P. +1.406.300.0090   
E. info@jfit.com 
www.jfit.com

Assembly Guide

Product Disclaimer:
There are some inherent risks involved in using any JFIT product including but not limited to serious 
physical injury. We will not be held liable under any circumstance for incidental or consequential 
loss, damage, or injury due directly or indirectly to the use of this product including any malfunction 
from negligence or defect. The seller makes no claims as to the suitability of this product for any 
specific purpose or use. The Buyer understands that the use of the product can cause possible 
injury or death to themselves or others. The Buyer agrees to release, discharge, indemnify, and 
hold harmless our company and its officers, directors, shareholders, members, employees, agents, 
and their respective successors and assignees against any loss, liability, damage, claim, cause of 
action, known or unknown cost, or expense of any nature whatsoever, including without limitation 
reasonable attorneys’ fees and other legal costs arising from the use of our products and content.

Your complete satisfaction 
is our top priority!

CONTACT

If you need help with 
product questions, you 

need replacement parts, 
or have concerns, please 

reach out to us and 
we will do our best to 
accommodate you. 

Email: info@jfit.com

UNHAPPY

If your order arrived 
incorrect, damaged, or 
missing parts, please 
contact the customer 

service where you 
purchased the item, i.e. 

Amazon.com. All refunds 
and returns will need to 
be processed through 

the original point of 
purchase as JFIT does 

not have access to order 
information or funds. 

HAPPY

Thank you! Without your 
product review, we do not exist.

We know you have many 
choices, and we sincerely 

appreciate your purchase of our 
JFIT product. We take pride in 

manufacturing a quality product 
and hope you are completely 
satisfied with your item. If you 
have enjoyed our service and 
quality, please let others know 

what you think by leaving a 
review through the specific 

retailer you purchased your JFIT 
product.



JFIT is founded on this fact:
IF YOUR BODY FEELS GOOD, SO WILL YOUR MIND

Your complete satisfaction 
is our top priority!

Medicine Ball Rebounder
Assembly Guide

JFIT is founded on this fact:
IF YOUR BODY FEELS GOOD, SO WILL YOUR MIND

Cutting Edge. High Quality. Affordable.

B07P6PH3T2/D1MDRBND

Assembly Instructions:

Required Tools:  Optional Tools:
•Flat Wrench (included) •17mm socket/wrench
   •19mm socket/wrench

1. Begin to assemble the base of the rebounder first. Using 
the tools mentioned above, fasten the plate holder with the 
M10*65 bolt and Ø10 washer to the center of base facing 
away from the floor.

2. Next take the arm and insert it into the sleeve with the lock 
pin. Connect the sleeve end to the base with one of the 
M12*90 bolts, Ø12 washer, and M12 nut. 

3. Place the upper frame on the ground upside down next to 
the base on the arm lever side. Take the open end of the 
connected arm and fasten it to the appropriate joint of the 
upper frame with the other M12*90 bolt, Ø12 washer, and 
M12 nut.

4. Flip the connected upper frame over onto the base, aligning 
the joint from the base and upper frame, and fasten with the 
M12*120 bolt, Ø12 washer, and M12 nut.

5. Lastly take the trampoline and place the legs into the 4 
inserts of the upper frame. Fasten with the 4 plastic knob 
bolts.

Description Quantity
Bolt M12*120 1

Washer ɸ12 4

Nut M12 2

Plastic Bolt 4

Bolt M12*90 2

Lock Pin 1

Bolt M10*65 1

Washer ɸ10 1

*Plate Holder

Sleeve

Arm

*Weighted Ball Holders

(*To be used to weigh 
rebounder down during use)

Upper Frame



JFIT is founded on this fact:
IF YOUR BODY FEELS GOOD, SO WILL YOUR MIND

Your complete satisfaction 
is our top priority!

Medicine Ball Rebounder
Assembly Guide

JFIT is founded on this fact:
IF YOUR BODY FEELS GOOD, SO WILL YOUR MIND

Cutting Edge. High Quality. Affordable.

B07P6PH3T2/D1MDRBND

Assembly Instructions:

Required Tools:  Optional Tools:
•Flat Wrench (included) •17mm socket/wrench
   •19mm socket/wrench

1. Begin to assemble the base of the rebounder first. Using 
the tools mentioned above, fasten the plate holder with the 
M10*65 bolt and Ø10 washer to the center of base facing 
away from the floor.

2. Next take the arm and insert it into the sleeve with the lock 
pin. Connect the sleeve end to the base with one of the 
M12*90 bolts, Ø12 washer, and M12 nut. 

3. Place the upper frame on the ground upside down next to 
the base on the arm lever side. Take the open end of the 
connected arm and fasten it to the appropriate joint of the 
upper frame with the other M12*90 bolt, Ø12 washer, and 
M12 nut.

4. Flip the connected upper frame over onto the base, aligning 
the joint from the base and upper frame, and fasten with the 
M12*120 bolt, Ø12 washer, and M12 nut.

5. Lastly take the trampoline and place the legs into the 4 
inserts of the upper frame. Fasten with the 4 plastic knob 
bolts.

Description Quantity
Bolt M12*120 1

Washer ɸ12 4

Nut M12 2

Plastic Bolt 4

Bolt M12*90 2

Lock Pin 1

Bolt M10*65 1

Washer ɸ10 1

*Plate Holder

Sleeve

Arm

*Weighted Ball Holders

(*To be used to weigh 
rebounder down during use)

Upper Frame



Medicine Ball
Rebounder

www.jfit.comCutting Edge. High Quality. Affordable.
JFIT is founded on this fact:

IF YOUR BODY FEELS GOOD, SO WILL YOUR MIND

JFIT 
11 Arcadia Way Columbia Falls, MT 59912 
P. +1.406.300.0090   
E. info@jfit.com 
www.jfit.com

Assembly Guide

Product Disclaimer:
There are some inherent risks involved in using any JFIT product including but not limited to serious 
physical injury. We will not be held liable under any circumstance for incidental or consequential 
loss, damage, or injury due directly or indirectly to the use of this product including any malfunction 
from negligence or defect. The seller makes no claims as to the suitability of this product for any 
specific purpose or use. The Buyer understands that the use of the product can cause possible 
injury or death to themselves or others. The Buyer agrees to release, discharge, indemnify, and 
hold harmless our company and its officers, directors, shareholders, members, employees, agents, 
and their respective successors and assignees against any loss, liability, damage, claim, cause of 
action, known or unknown cost, or expense of any nature whatsoever, including without limitation 
reasonable attorneys’ fees and other legal costs arising from the use of our products and content.

Your complete satisfaction 
is our top priority!

CONTACT

If you need help with 
product questions, you 

need replacement parts, 
or have concerns, please 

reach out to us and 
we will do our best to 
accommodate you. 

Email: info@jfit.com

UNHAPPY

If your order arrived 
incorrect, damaged, or 
missing parts, please 
contact the customer 

service where you 
purchased the item, i.e. 

Amazon.com. All refunds 
and returns will need to 
be processed through 

the original point of 
purchase as JFIT does 

not have access to order 
information or funds. 

HAPPY

Thank you! Without your 
product review, we do not exist.

We know you have many 
choices, and we sincerely 

appreciate your purchase of our 
JFIT product. We take pride in 

manufacturing a quality product 
and hope you are completely 
satisfied with your item. If you 
have enjoyed our service and 
quality, please let others know 

what you think by leaving a 
review through the specific 

retailer you purchased your JFIT 
product.


